Modular Work Centers
Table Stand for EC and RC Cutters

CALSTONE INC - 020107

Component Parts:

2 - Uprights

1 - Cutter Channel

4 -1/4-20 x 3" Combination Head Machine
Screw

4 - 1/4-20 Hex Kept Nut

4 - 1/4" Flat Washer

4 - #10 x 3/4 Truss Combination Self
Tapping Screw

(Inspected by)

T

Table Stand Assembly:

1.Fasten cutter with channel though table top
with 1/4 x 3" bolts and nuts.

2.Slide uprights over small channel and fasten
with #10 x 5/8 combination screws.

3.For additional strength, we recommend to
fasten uprights through table top with 1/4 x 1-
1/2 bolt and nuts.

\!
— Upright
\ .
Pty IP
/ 2 E,
g |
| A ° e 9 | ? i
&/// Y g ! If ! Small Channel !
e // :
- P i
[l /E,/ @
|
@

300 S.Lageschulte St.

Barrington, IL 60010
Phone:847.382.1579 Fax:847.382.1615
E-mail:info@dehnco.com

Equipment & Supplies, Inc.



